

1. Community Master (By Admin)

Under PMKSY scheme it is allowed that a group of farmers may form a community and avail the scheme benefits as a group.

Community Master

Community Name*	<input type="text" value="Hailakandi kisaan Seva Sar"/>
Community Head Name*	<input type="text" value="k.k. singh"/>
No of Members allowed*	<input type="text" value="50"/>
Total Area allowed (in ha)*	<input type="text" value="150"/>
Last Date To Accept Applications *	<input type="text" value="21/11/2018"/>
Community Head Mobile No	<input type="text" value="9564646464"/>
Community Head Address	<input type="text" value="Hailakandi"/>
District Name*	<input type="text" value="Hailakandi"/>
Bank Name*	<input type="text" value="Allahabad Bank"/>
Branch Name*	<input type="text" value="BANKA"/>
Account No*	<input type="text" value="1234567891232165"/>
IFSC Code*	<input type="text" value="ALLA0213386"/>
Vendor*	<input type="text" value="Hallmark Aquaequipment Pvt"/>

Search

S.No.	Community Name	Community Head Name	No Of Member	Total Area Of MI (in ha)	Community Head Mobile No	Community Head Address	District Name	Vendor Name	Last date to accept applications	Sanction Status	Sanction Date	Select
1	Kisaan Union	RK Gupta	200	200.00			Hailakandi	Jain Irrigation Systems Limited	30/10/2018	Freez	30/10/2018	Select
8	Hailakandi kisaan Seva Samiti	k.k. singh	50	150.00	9564646464	Hailakandi	Hailakandi	Hallmark Aquaequipment Pvt Ltd	21/11/2018	Pending		Select

This screen is operated by PMKSY Admin for creation of new communities of farmers. It is understood that one community will operate within one district (not across many districts), therefore District name is a mandatory column while creating a community. Also it is mandatory to have a bank account for the community, which is to be entered here.

A vendor is also selected in Community master, who will be doing estimation, installation for all the members of this community.

Please note that each farmer application under community will be treated (processed) individually for the purpose of document upload, vendor estimation, Estimate Verification by District Nodal officer, installation intimation, physical verification, recommendation for release of subsidy by District Nodal Officer, State Nodal Officer, FAO and Accounts Section.

However, only difference is at following stages -

- a) Sanction by State Nodal Officer is done in the group - explained later.
- b) Final Release of Subsidy (Generation of Text file for uploading for the bank transfer) by State Nodal officer is done in the group - explained later.

2. Application Form under community

Application form is same whether farmer applies as an individual or as a part of community. Only difference is that, farmer will select radio button 'Community' and then select the name of community to which he is member. Also vendor name is fixed as selected at community level.

English বাংলা অসমীয়া

NEW APPLICATION FORM

Application Date
06/11/2018

Application No. HAI/HAI/2018-2019/0103

Ownership Individual Community

Farmer Name (As in Bank Account)

Father/Husband Name

Relation

Gender Male Female

Date Of Birth

Age

District Name

Agri Sub Div OR Block

Agri Circle Gram Panchayat

Eleka

Village Name

Community Name

Last application submission date

House No.

Contact No.

Email ID

Address For Correspondence Same as above

Pincode

Physical Disability (Tick if Yes)

Category

Total Land Of Farmer(in ha)

Whether Subsidy availed earlier under any Government Scheme for the same purpose

Balance Eligibility Area(in ha)

Farmer Type

Land information :

S.No.	Dag No.	Patta No.	Area(in ha)	
1	123	121	12	Delete
Total			12	

Crop Information:

S.No.	Crop Type	Crop Name	Mi Area	
1	Flower	Aster (.30 x .40)	5	Delete
			5	

Crop Wise Total Area

Source Of Water

Irrigation Water Quality

Soil Type

Soil Quality

Daily Availability of Electricity to run Pump(in Hrs)

Pump Horse Power(in HP)

Bank Details

Bank Name Branch Name

Account No. IFSC Code

Aadhar No. NRC No

Vendors

Type of System applied for

Select Vendor

Photo Upload(size greater than 20 kb and less than 200 kb) images.jpg

Comprative Detail of Components as per SMI Type Selected

App No. Farmer Name Dist.

3. Document Upload (By Vendor)

This form works same as it works for individual farmer. Only difference is that the Ownership Type is displayed as 'Community' alongwith name of community to which this farmer is a member. (Shown in red in the screen image below).

UPLOAD DOCUMENTS

Application No. Farmer Name District Block Search

Application No.	Farmer Name	District	Block	Village	OWNERSHIP
HAI/HAI/2018-2019/0095	Dinesh	Hailakandi	KATLICHERRA	Dholai Molai Pt I	Individual
HAI/HAI/2018-2019/0097	akash	Hailakandi	HAILAKANDI	Bahadurpur Pt I	Individual
HAI/HAI/2018-2019/0098	naba	Hailakandi	HAILAKANDI	Bahadurpur Pt I	Community

Application No. **HAI/HAI/2018-2019/0098**

Name of farmer **akash**

Address **Village: Bahadurpur Pt I, Block: HAILAKANDI, District: Hailakandi**

Ownership Type **Community, community of Farmer**

Vendor

Latitude: Longitude: Add

n123444	e123456	✖
n123444	e123456	✖
n123445	e123455	✖
n123412	e123478	✖

(Add atleast 4 GPS Points)

Enclosures: (Please Upload Only pdf file with between 20 kb to 200 kb.)

Land Record With Khasra No *	<input type="button" value="Choose File"/>	CPE Job Aid_15_feb.pdf
Map of Land with Khasra No *	<input type="button" value="Choose File"/>	CPE Job Aid_14_feb.pdf
System Design *	<input type="button" value="Choose File"/>	CPE Job Aid_15_feb.pdf
Soil Testing Report *	<input type="button" value="Choose File"/>	CPE Job Aid_15_feb.pdf
Water Testing Report *	<input type="button" value="Choose File"/>	CPE Job Aid_15_feb.pdf
Application Form-1 Filled manually *	<input type="button" value="Choose File"/>	CPE Job Aid_15_feb.pdf
GPS Document *	<input type="button" value="Choose File"/>	CPE Job Aid_20_feb.pdf
Voter Id	<input type="button" value="Choose File"/>	CPE Job Aid_15_feb.pdf
Aadhaar Document	<input type="button" value="Choose File"/>	No file chosen
NRC Number	<input type="button" value="Choose File"/>	No file chosen
Bank Passbook	<input type="button" value="Choose File"/>	No file chosen
Consent Form(for release of assistance)	<input type="button" value="Choose File"/>	No file chosen

Save
Reset

Objected Application

S.No.	Vendor	Application No.	Farmer Name	Farmer Address	LAND	LAND MAP	System Design	SOIL	WATER	APPL	GPS	Voter Id	Aadhaar	NRC Number	Bank Passbook	Consent Form	Objection REMARK	
1	M/s NetaFim Irrigation India	HAI/HAI/2018-2019/0093	naba	Bansbari Grant, HAILAKANDI, Hailakandi	view	view	view	view	view	view	view	view	view	view	view	view	Select	abj

4. Vendor Estimation Vendor)

(By

This form works same as it works for individual farmer.

Vendor Estimation						
Application No.:	<input type="text"/>	Farmer Name:	<input type="text"/>	District: <input type="text"/> Block: <input type="text"/> <input type="button" value="Search"/>		
Application No.	Farmer Name	District	Block	Ownership		
HAI/ALG/2018-2019/0004	Vinay Shukla	Bornagad	ALGAPUR	Community		
<p>Application No.: HAI/ALG/2018-2019/0004 Application Date: 28/11/2018 Click Here</p> <p>Farmer Name: Vinay Shukla S/o Ablok Address: Bornagad, ALGAPUR, Hailakandi</p> <p>Crops: Maize , OwnerShip Type: Community , Kisaan Community</p> <p>Vendor Name: <input type="text" value="M/s NetaFim Irrigation India"/> Estimation No.: <input type="text" value="123456"/></p> <p>Farmer Type: Small Farmer Balance Eligible Area(Ha): 5.000</p> <p>GST No.: Additional Subsidy For District: 0 %</p>						
Template	SMI Type	Area(Ha)	Spacing (Std Area .4,1,2,3,4,5)	Crop	Inline/Online	
Drip Irrigation(Close Spaced)	Drip Irrigation(Close Spaced)	5.000	1.2 x 0.6	African marigold	Inline	<input type="button" value="Delete"/>
Drip						
SMI : Drip Irrigation(Close Spaced) Area(Ha) : 5.000 Plant Spacing : 1.2 x 0.6 Crop : African marigold Inline/Online : Inline Essential Component						
S.No.	Component Description	Unit Of Measurement	BIS No	Quantity	Unit Rate	Amount
1	Air Release Valve 1.5"	Number		1	220.00	220
2	By-pass Assembly-2.5"	Number		1	756.00	756
3	Control Valve * 50 mm	Number		4	350.00	1400
4	Control Valve * 63 mm	Number		6	300.00	1800
5	Control Valve * 75 mm	Number		2	355.00	710
6	Control Valve 90 mm	Number		2	762.00	1524
7	Emitting Pipe 16 mm Class II; (0.2/0.3m x 1 t, 2- 4 lph)	Metre		42083	20.00	841660
8	Flush Valve 50 mm	Number		2	52.00	104
9	Flush Valve 63 mm	Number		4	62.00	248
10	Flush Valve 75 mm	Number		1	72.00	72
11	HDPE Pipe 50mm; 4 kg/cm2	Metre		200	50.00	10000
12	HDPE Pipe 63mm; 4 kg/cm2	Metre		310	81.70	25327
13	HDPE Pipe 75mm; 4 kg/cm2	Metre		375	85.00	31875
14	HDPE Pipe 90mm; 4 kg/cm2	Metre		180	125.00	22500
15	Lateral 16 mm Class II, 2.5 kg/cm2	Metre		559	8.50	4751.5
16	Non Return Valve - 2.5"	Number		1	415.00	415
17	Screen Filter 30 m3/hr	Number		1	2025.00	2025
18	Throttle Valve 2.5"	Number		1	3740.00	3740
19	Venturi & manifold - 2"	Number		1	2206.00	2206
Optional Component						
No Optional Component Found						
Fitting Component						
No Fitting Component Found						
					A. Unit cost as per scheme	768964
					Maximum Subsidy Limit	422930
					B. Cost as per actual Component List	0.00
					C. Essential Discount Amount(If Any)	
					Amount of Fittings & Accessories 5 %	47566.68
					D. Net Amount	998900.18
					E. GST	114160.02
					CGST	57080.01
					SGST	57080.01
					F. Total Cost (D+E)	1113060.20
					G. Applicable Unit Cost(Lesser Value of A & D):	998900.18
					Eligible Subsidy % value	55
					H. Eligible subsidy amount (Essential Component)	422930.00
					Total Amount of Optional Component	0.00
					Optional Component Subsidy Amount	0.00
					I. Total subsidy amount	422930.00
					J. Farmer Share(F-1)	690130.20
<input type="button" value="Click To Get Total"/>						
<input type="button" value="Save"/> <input type="button" value="Reset"/> <input type="button" value="Delete"/>						

5. Document Verification (By DAO)

This form works same as it works for individual farmer. Only difference is that the Ownership Type is displayed as 'Community' alongwith name of community to which this farmer is a member. (Shown in red in the screen image below).

DOCUMENT VERIFICATION

App No. Name Dist. Block

[Search](#)

Application No.	Farmer Name	District	Block	Mobile No.	Ownership
HAI/HAI/2018-2019/0098	akash	Hailakandi	HAILAKANDI	98464323	



Application No. HAI/HAI/2018-2019/0098

Farmer Name akash

OwnerShip Types Community, community of Farmer

Father Name Kishore

District Hailakandi

Block HAILAKANDI

Village Bahadurpur Pt I

GPS DETAILS

SNo.	Latitude	Longitude
1	n123444	e123456
2	n123444	e123456
3	n123444	e123456
4	n123444	e123456

[View GPS Document](#)

Vendor Name		M/s NetaFim Irrigation India	
Jamabandi/Land Record Verified *	Yes	View LandMap	View LandRecord
System Design with Technical Report *	Yes	View System Design Report	
Soil Test Report Verified *	Yes	View Soil Test Report	
Water Test Report Verified *	Yes	View Water Test Report	
Manually Filled AppForm *	Yes	View AppForm Report	
Aadhar No.	Yes	View Aadhar Document	
Voter Id	Yes	View Voter Id	
NRC Number	No	View NRC Number	
Bank Passbook	No	View Bank Passbook	
Consent Form(for subsidy payment)	View Consent Form		
Total Area Applied for Drip/Mini System	5.000		
Farmer Type	Small Farmer		
Case Approval Status *	RECOMMENDED		
Save Reset			

6. Estimate Verification (Recommendation for Sanction) (By DAO)

This form works same as it works for individual farmer. Only difference is that the Ownership Type is displayed as 'Community' alongwith name of community to which this farmer is a member. (Shown in red in the screen image below).

ESTIMATE VARIFICATION

App No. Name Dist. Block

Search

Application No.	Farmer Name	District	Block	Mobile No.	Ownership
HAI/HAI/2018-2019/0098	akash	Hailakandi	HAILAKANDI	9843444553	community

Application No.	HAI/HAI/2018-2019/0098
Farmer Name	akash
OwnerShip Types	Community, community of Farmer
District	Hailakandi
Block	HAILAKANDI
Village	Bahadurpur Pt I

GPS DETAILS

SNo.	Latitude	Longitude
1	n123444	e123456
2	n123444	e123456
3	n123444	e123456
4	n123444	e123456

View GPS Document

Farmer Type	<input type="text" value="Small Farmer"/>	Update Subsidy Calculation
Proposed SMI system by firm	Drip Irrigation(Close Spaced) ,	
Proposed Lateral Spacing with Lateral Plant Spacing	1.2 x 0.6,	
Total Area(in ha)	5.000	
Estimate by firm(in Rs.)	998900.18	
GST(in Rs.)	114160.02	
Max. Subsidy Limit(in Rs.)	422930.00	
Assistance Amount(in Rs.)	422930.00	
Farmer Share(in Rs.)	690130.20	
Estimate Verification Completed *	<input checked="" type="radio"/> Yes <input type="radio"/> No	
Case Recommendation/Rejected/Objection*	<input type="text" value="RECOMMENDED"/>	

Save
Reset
View Estimate

7. Sanction Interface (By SNO)

This form works same as it works for individual farmer. Only difference is that the Ownership Type is displayed as 'Community' alongwith name of community to which this farmer is a member. (Shown in red in the screen image below).

Sanction Interface									
App No.	<input type="text"/>	Name	<input type="text"/>	Dist.	<input type="text"/>	Block	<input type="text"/>	<input type="button" value="Search"/>	
Application No.	Farmer Name	District	Block	Mobile No.	Ownership				
HAI/HRI/2018-2019/0098	akash	Hailakandi	HAILAKANDI	9645444564	Community				
Application No. HAI/HAI/2018-2019/0098						Farmer Name akash		Ownership Types Community, community of Farmer	
District Hailakandi			Block HAILAKANDI		Village Bahadurpur Pt I				
Proposed SMI system by firm		Drip Irrigation(Close Spaced) ,							
Proposed Lateral Spacing with Lateral Thickness in mm		1.2 x 0.6,							
Drip Total Area(in ha)		5.000							
Estimate by firm for Drip Area(in Rs.)		998900.18							
GST(in Rs.)		114160.02							
Max. Subsidy Limit on Drip Area(in Rs.)		422930.00							
Assistance Amount(in Rs.)		422930.00							
Farmer Share(in Rs.)		690130.20							
Assistance Amount Sanctioned *		<input checked="" type="radio"/> Yes <input type="radio"/> No							
Sanction Status*		SANCTIONED ▼							
<input type="button" value="Save"/>		<input type="button" value="Reset"/>		<input type="button" value="View Estimate"/>					

However, unlike individual farmer cases, this sanction is provisional. Final sanction freezing is done for the entire group (community), as explained in the next screen.

8. Community Detail (Sanction Freeze) (By SNO)

Community Detail

Select Community : *

S.No.	Community Name	Community Head Name	No Of Member	Total Area Of MI (in ha)	Community Head Mobile No	Community Head Address	District Name	Last Date To Accept Application Date	Sanction Status	Sanction Freeze Date	Payment Release Status	Payment Release Freeze Date	View
1	Hailakandi kisaan Seva Samiti	k.k. singh	50	150.00	9956454654	Hailakandi	Hailakandi	21/11/2018	Freez	Pending	Freez	Pending	View Detail

Sanction Application Detail

Sanction Freeze Date

	No Of Application	Area (in ha)	Applicable Subsidy
Submitted	11	55.00	405655.00
Sanctioned	5	25.00	405655.00
Rejected	0	0.00	0.00
Pending	6	30.00	0.00
Auto Rejected	0	0.00	0.00

This interface is used by State Nodal Officer for finalizing the sanction of cases under a community.

Prior to this various members of community would have uploaded their documents and estimates by vendor. Individually these cases would have been recommended by District Nodal officer.

A summary of above would display on this screen, indicating how many members have uploaded their details and how many of them got sanctioned from district level and how many cases are pending. State Nodal officers, when feels that no more cases need to be taken up under this community case, then he can freeze this community case by pressing 'Freeze' button. Thereafter, no more applications would be entertained under this community. And pending applications would not be sanctioned.

9. Installation Intimation (By Vendor)

No

Installation Intimation									
Application No.	<input type="text"/>	Farmer Name	<input type="text"/>	District	<input type="text"/>	Block	<input type="text"/>	<input type="button" value="Search"/>	
HAI/ALG/2018-2019/0043	akash	Hailakandi	ALGAPUR	Community					
HAI/ALG/2018-2019/0059	akash	Hailakandi	ALGAPUR	Individual					
HAI/HAI/2018-2019/0091	raj	Hailakandi	HAILAKANDI	Individual					
HAI/HAI/2018-2019/0092	naba	Hailakandi	HAILAKANDI	Individual					
HAI/ALG/2018-2019/0054	Dinesh	Hailakandi	ALGAPUR	Community					
HAI/HAI/2018-2019/0098	akash	Hailakandi	HAILAKANDI	Community					
Application No.	HAI/HAI/2018-2019/0098		Application Date	30/11/2018					
Farmer Name			Address	Bahadurpur Pt I, HAILAKANDI, Hailakandi					
OwnerShip Type	Community, community of Farmer		Additional Subsidy For District.	0%					
Vendor	M/s NetaFim Irrigation India		GST No.						
Dealer Name	Self		GST No.	08AABCD2819A1Z7					
Estimation No.	123456								
Template	SMI Type	Area(Ha)	Spacing	Crop	Inline/Online				
Drip Irrigation(Close Spaced)	Drip Irrigation(Close Spaced)	5.000	1.2 x 0.6	Aster	Inline				
Drip									
SMI : Drip Irrigation(Close Spaced)			Area(Ha) : 5.000	Plant Spacing : 1.2 x 0.6	Crop : Aster	Inline/Online : Inline			
Essential Component									
S.No.	Component Description	Unit Of Measurement	Quantity	Unit Rate	Amount				
1	Air Release Valve 1.5"	Number	1	220.00	220				
2	By-pass Assembly-2.5"	Number	1	756.00	756				
3	Control Valve * 50 mm	Number	4	350.00	1400				
4	Control Valve * 63 mm	Number	6	300.00	1800				
13	HDPE Pipe 75mm; 4 kg/cm2	Metre	375	85.00	31875				
14	HDPE Pipe 90mm; 4 kg/cm2	Metre	180	125.00	22500				
15	Lateral 16 mm Class II, 2.5 kg/cm2	Metre	559	8.50	4751.5				
16	Non Return Valve - 2.5"	Number	1	415.00	415				
17	Screen Filter 30 m3/hr	Number	1	2025.00	2025				
18	Throttle Valve 2.5"	Number	1	3740.00	3740				
19	Venturi & manifold - 2"	Number	1	2206.00	2206				
Optional Component									
Fitting Component									
No Fitting Component Found									
					A. Unit cost as per scheme	768964			
					Maximum Subsidy Limit	422930.2			
					B. Cost as per actual Component List	951333.50			
					C. Essential Discount Amount(If Any)	0.00			
					Applicable amount of fitting & accessories(Lesser Value) 5 %	47566.68			
					D. Net Amount	998900.18			
					E. GST	114160.02			
					CGST	57080.01			
					SGST	57080.01			
					F. Total Cost (D+E)	1113060.20			
					G. Applicable Unit Cost(Lesser Value):	768964			
					Eligible % value	55			
					H. Eligible subsidy amount (Essential Component)	422930.20			
					Total Amount of Optional Component	0.00			
					Optional Component Subsidy Amount	0.00			
					I. Total subsidy amount	422930.2			
					J. Farmer Share(F-I)	690130			
<input type="button" value="Click To Get Total"/>									

	Drip	Total
Essential Components Calculation		
A. Amount of Essential Components(in Rs.)	951333.50	951333.50
B. Amount of Fittings & Accessories(in Rs.)	47566.68	47566.68
C. Sub Total of A & B(in Rs.)	998900.00	998900.00
Maximum Subsidy Limit(in Rs.)	422930.00	422930.00
Eligible 55% subsidy(in Rs.)	422930.00	422930.00
Optional Components Calculation		
D. Amount of Optional Component(in Rs.)	0.00	0.00
Maximum Subsidy Limit(in Rs.)	0.00	0.00
Eligible 55% subsidy(in Rs.)	0.00	0.00
E. Grand Total (C+D)(in Rs.)	998900.00	998900.00
Net Amount		
Optional Component Amount		0.00
Maximum Subsidy Limit(in Rs.)	422930.00	422930.00
Eligible 55% subsidy(in Rs.)	422930.00	422930.00
Drip Essential Component Subsidy		422930.00
Total Essential Component Subsidy		422930.00
Drip Max Subsidy		422930.00
Total Max Subsidy		422930.00

10. Physical Verification (By Third Party)

Physical Verification					
App No.	<input type="text"/>	Name	<input type="text"/>	Dist.	Hailakandi
				Block	<input type="text"/>
<input type="button" value="Search"/>					
Application No.	Farmer Name	District	Block	Village	Ownership
HAI/HAI/2018-2019/0098		Hailakandi	Hailakandi	Hailakandi	Community
Application No. HAI/HAI/2018-2019/0098					
Farmer Name akash		Father Name Kishore			
Address Village: Bahadurpur Pt I, Block: HAILAKANDI, District: Hailakandi			Phone 9645444564		
Category OBC		OwnerShip Type Community, community of Farmer			
Vendor M/s NetaFim Irrigation India		Inspection Date			
SMI Type Drip Irrigation(Close Spaced)					
As per vendor Estimate					
	Area	Component Amount	Fitting Charges	Total Cost(Without GST)	Max Subsidy
DRIP	5.000	951333.50	47566.68	768964.00	422930.00
Sprinkler	0.00	0.00	0.00	0.00	0.00
Total	5.000	951333.50	47566.68	768964.00	422930.00
Actual					
	Area	Component Amount	Fitting Charges	Total Cost(Without GST)	Max Subsidy Recommended
DRIP	5.000	951333.50	47566.68	768964.00	422930.20
Sprinkler	0.00	0.00	0.00	0.00	0.00
Total	5.000	951333.50	47566.68	768964.00	422930.20
Discounted Amount					
Land Details					
Dag No	Patta No	Area (in ha)			
121	1111	12			

Component List(As present on site)

Component	Unit	Quantity
Air Release Valve 1.5"	Number	1.00
By-pass Assembly-2.5"	Number	1.00
Control Valve * 50 mm	Number	4.00
Control Valve * 63 mm	Number	6.00
Control Valve * 75 mm	Number	2.00
Control Valve 90 mm	Number	2.00
Emitting Pipe 16 mm Class II; (0.2/0.3m x 1 t, 2- 4 lph)	Metre	42083.00
Flush Valve 50 mm	Number	2.00
Flush Valve 63 mm	Number	4.00
Flush Valve 75 mm	Number	1.00
HDPE Pipe 50mm; 4 kg/cm2	Metre	200.00
HDPE Pipe 63mm; 4 kg/cm2	Metre	310.00
HDPE Pipe 75mm; 4 kg/cm2	Metre	375.00
HDPE Pipe 90mm; 4 kg/cm2	Metre	180.00
Lateral 16 mm Class II, 2.5 kg/cm2	Metre	559.00
Non Return Valve - 2.5"	Number	1.00
Screen Filter 30 m3/hr	Number	1.00
Throttle Valve 2.5"	Number	1.00
Venturi & manifold - 2"	Number	1.00

GPS Co-ordinates Image List

Farmer Share	690130.00
Material Used in the System is conforming to BIS quality	No
Root zone wetting effect of distribution component in accordance with the crop spacing	No
Variation in water application between first and last emitter on lateral	Less than 10%
User Manual Supplied to Farmer by Manufacture	No
Satisfactory Report from the Beneficiary	No
GPS coordinates match with data as mentioned by MI registered firm	No
Quantity of material is as per Invoice Proforma/Estimate	No

In case of variation in quantity, the inspection authority has attached list of material having actual quantity at site No

'As Made Design Map' supplied to farmer by MIS Supplier No

Whether MIS is complete as per guidelines No

Whether copy of DD/cheque for cost of installed MIS made to MIS Supplier by the farmer No

Remark Of Inspecting Officers

Date Of Inspection *

Physical Verification Status *

MI SYSTEM VERIFICATION TEAM

Name of Person*	Devesh kumar	Designation*	Head
Name of Person*	ayush kumar	Designation*	Head

11. Recommendation For Release (By DAO)

RECOMMENDATION FOR RELEASE OF ASSISTANCE

Application No

HAI/HAI/2018-2019/009

Farmer

District

Hailakandi

Block

Search

Application No.	Farmer Name	District	Block	Village	Ownership
HAI/HAI/2018-2019/0098	akash	Hailakandi	HAILAKANDI	Bahadurpur Pt I	Community



		Date	30/11/2018
Application No.	HAI/HAI/2018-2019/0098	Farmer Name	akash
Address	Village: Bahadurpur Pt I, Block: HAILAKANDI, District: Hailakandi	District	Hailakandi
Ownership	Community, community of Farmer	Farmer Type	Small Farmer
Vendor	M/s NetaFim Irrigation India		
Application Submit Date	30/11/2018, 2018-2019	Vendor Estimate Date	30/11/2018
Estimate Verification Date	30/11/2018	DHFP Sanction Date	30/11/2018, 2018-2019
Installation Intimation Date	30/11/2018	TP Visit Date	01/12/2018



Applicable Subsidy Percentage	55.00	(%)
--------------------------------------	-------	-----

Bank Details

Bank	Allahabad Bank	Branch	2651
Account No.	5464564646464646	IFSC Code	ALLA0213386
Aadhaar no.			

SMI System Installed

SNo.	SMI System	Plant Spacing	Area(Ha)	Essential Component Amount	Max.Subsidy Essential	Optional Component Amount(Approved)	Optional Subsidy	To be Paid Subsidy Amount
1	Drip Irrigation(Close Spaced)	1.2 x 0.6	5.000	951333.50	422930.00	0.00	0	422930.00
	Total		5.000	951333.50	422930.00	0.00	0	422930.00

Component List(Vendor Estimation)

Component	Unit	BIS No	Rate	Qty	Amount
Air Release Valve 1.5"	Number		220.00	1.00	220.00
By-pass Assembly-2.5"	Number		756.00	1.00	756.00
Control Valve * 50 mm	Number		350.00	4.00	1400.00
Control Valve * 63 mm	Number		300.00	6.00	1800.00
Control Valve * 75 mm	Number		355.00	2.00	710.00
Control Valve 90 mm	Number		762.00	2.00	1524.00
Emitting Pipe 16 mm Class II; (0.2/0.3m x 1 t, 2- 4 lph)	Metre		20.00	42083.00	841660.00

Component List(During P. Verification)

Component	Unit	BIS No	Rate	Qty	Amount
Air Release Valve 1.5"	Number		220.00	1.00	220.00
By-pass Assembly-2.5"	Number		756.00	1.00	756.00
Control Valve * 50 mm	Number		350.00	4.00	1400.00
Control Valve * 63 mm	Number		300.00	6.00	1800.00
Control Valve * 75 mm	Number		355.00	2.00	710.00
Control Valve 90 mm	Number		762.00	2.00	1524.00
Emitting Pipe 16 mm Class II; (0.2/0.3m x 1 t, 2- 4 lph)	Metre		20.00	42083.00	841660.00

Throttle Valve 2.5"	Number		3740.00	1.00	3740.00
Venturi & manifold - 2"	Number		2206.00	1.00	2206.00

Throttle Valve 2.5"	Number		3740.00	1.00	3740.00
Venturi & manifold - 2"	Number		2206.00	1.00	2206.00

GPS Points(Vendor)

SNo.	Latitude	Longitude
1	n123444	e123456
2	n123444	e123456
3	n123444	e123456
4	n123444	e123456

GPS Points(During P. Verification)

Nearby Land Locations

AppNo	Farmer Name	Father Name	Farmer Type	SMI Type	Crop
HAI/HAI/2018-2019/0042	Rupendra Kashyap	Yuvraj Kashyap	Small Farmer	Drip Irrigation (Wide Spaced)	Water melon
HAI/HAI/2018-2019/0043	ram	raj	Marginal Farmer	Drip Irrigation (Wide Spaced)	Mango
HAI/HAI/2018-2019/0044	laxman	deep	Marginal Farmer	Drip Irrigation (Wide Spaced)	Mango
HAI/HAI/2018-2019/0045	hanuman	ram	Small Farmer	Drip Irrigation(Close Spaced)	Coriander
HAI/HAI/2018-2019/0046	arjun	raghab	Small Farmer	Drip Irrigation(Close Spaced)	Chilli

1 2 3 4 5 6

Site Image List

Correct Subsidy Amount	422930.00
-------------------------------	-----------

SMI	ELIGIBLE SUBSIDY	ELIGIBLE AREA
DC	422930.00	5.000
Total Estimate Amount Including Fitting Charge(Rs.)		998900.00
Farmer Share(Rs.)		575970
Net Subsidy Amount(Rs.)		422930.00
Assistance Could Be Release? * <input type="text" value="APPROVED"/>		
Assistance Could Be Release To? <input type="radio"/> Vendor <input checked="" type="radio"/> Farmer		
Subsidy Paid To akash		
Account Detail BANK : Allahabad Bank BRANCH : 2651 ACCOUNT NO : 5464564646464646		
Amount To Be Paid 422930.00		
Remark if any wrong calculation <input type="text" value="approved"/>		
Form 4 & 4 A (Only PDF Format) * <input type="button" value="Choose File"/> CPE Job Aid_22_feb.pdf <input type="button" value="Remove"/>		
<input type="button" value="Submit for release"/> <input type="button" value="Reset"/>		

12. Recommendation For Release (By SNO)

RECOMMENDATION FOR RELEASE OF ASSISTANCE

Application No Farmer District Block

Search

Application No.	Farmer Name	District	Block	Village	Ownership
HAI/HAI/2018-2019/0098	akash	Hailakandi	HAILAKANDI	Bahadurpur Pt I	Community
HAI/HAI/2018-2019/0046	arjun	Hailakandi	HAILAKANDI	Nitainagar Pt I	Individual

				Date	30/11/2018
Application No.	HAI/HAI/2018-2019/0098	Farmer Name	akash		
Address	Village: Bahadurpur Pt I, Block: HAILAKANDI, District: Hailakandi	District	Hailakandi		
Ownership	Community, community of Farmer	Farmer Type	Small Farmer		
Vendor	M/s NetaFim Irrigation India				
Application Submit Date	30/11/2018, 2018-2019	Vendor Estimate Date		30/11/2018	
Estimate Verification Date	30/11/2018	DHFP Sanction Date		30/11/2018, 2018-2019	
Installation Intimation Date	30/11/2018	TP Visit Date		01/12/2018	

Applicable Subsidy Percentage	55.00	(%)
--------------------------------------	-------	-----

Bank Details

Bank	Allahabad Bank	Branch	2651
Account No.	5464564646464646	IFSC Code	ALLA0213386
Aadhaar no.			

SMI System Installed

SNo.	SMI System	Plant Spacing	Area(Ha)	Essential Component Amount	Max.Subsidy Essential	Optional Component Amount(Approved)	Optional Subsidy	To be Paid Subsidy Amount
1	Drip Irrigation(Close Spaced)	1.2 x 0.6	5.000	951333.50	422930.00	0.00	0	422930.00
Total			5.000	951333.50	422930.00	0.00	0	422930.00

Component List(Vendor Estimation)

Component	Unit	BIS No	Rate	Qty	Amount
Air Release Valve 1.5"	Number		220.00	1.00	220.00
By-pass Assembly-2.5"	Number		756.00	1.00	756.00
Control Valve * 50 mm	Number		350.00	4.00	1400.00
Control Valve * 63 mm	Number		300.00	6.00	1800.00
Control Valve * 75 mm	Number		355.00	2.00	710.00
Control Valve 90 mm	Number		762.00	2.00	1524.00
Emitting Pipe 16 mm Class II; (0.2/0.3m x 1 t, 2- 4 lph)	Metre		20.00	42083.00	841660.00

Component List(During P. Verification)

Component	Unit	BIS No	Rate	Qty	Amount
Air Release Valve 1.5"	Number		220.00	1.00	220.00
By-pass Assembly-2.5"	Number		756.00	1.00	756.00
Control Valve * 50 mm	Number		350.00	4.00	1400.00
Control Valve * 63 mm	Number		300.00	6.00	1800.00
Control Valve * 75 mm	Number		355.00	2.00	710.00
Control Valve 90 mm	Number		762.00	2.00	1524.00
Emitting Pipe 16 mm Class II; (0.2/0.3m x 1 t, 2- 4 lph)	Metre		20.00	42083.00	841660.00

Throttle Valve 2.5"	Number		3740.00	1.00	3740.00
Venturi & manifold - 2"	Number		2206.00	1.00	2206.00

Throttle Valve 2.5"	Number		3740.00	1.00	3740.00
Venturi & manifold - 2"	Number		2206.00	1.00	2206.00

GPS Points(Vendor)

SNo.	Latitude	Longitude
1	n123444	e123456
2	n123444	e123456
3	n123444	e123456
4	n123444	e123456

GPS Points(During P. Verification)

Nearby Land Locations

AppNo	Farmer Name	Father Name	Farmer Type	SMI Type	Crop
HAI/HAI/2018-2019/0042	Rupendra Kashyap	Yuvraj Kashyap	Small Farmer	Drip Irrigation (Wide Spaced)	Water melon
HAI/HAI/2018-2019/0043	ram	raj	Marginal Farmer	Drip Irrigation (Wide Spaced)	Mango
HAI/HAI/2018-2019/0044	laxman	deep	Marginal Farmer	Drip Irrigation (Wide Spaced)	Mango
HAI/HAI/2018-2019/0045	hanuman	ram	Small Farmer	Drip Irrigation(Close Spaced)	Coriander
HAI/HAI/2018-2019/0046	arjun	raghab	Small Farmer	Drip Irrigation(Close Spaced)	Chilli

1 2 3 4 5 6

Site Image List

Correct Subsidy Amount	422930.00
-------------------------------	-----------

	SMI	ELIGIBLE SUBSIDY	ELIGIBLE AREA
Edit	DC	422930.00	5.000
Total Estimate Amount Including Fitting Charge(Rs.)		998900.00	
Farmer Share(Rs.)		575970	
Net Subsidy Amount(Rs.)		422930.00	
Assistance Could Be Release? *		APPROVED ▼	
Assistance Could Be Release To?		<input type="radio"/> Vendor <input checked="" type="radio"/> Farmer	
Subsidy Paid To		akash	
Account Detail		BANK : Allahabad Bank BRANCH : 2651 ACCOUNT NO : 5464564646464646	
Amount To Be Paid		422930.00	
Remark if any wrong calculation		<input type="text" value="approve"/>	
Form 4 & 4 A		View	
		<input type="button" value="Submit for release"/> <input type="button" value="Reset"/>	

13. Recommendation for Release (By FA&O)

RECOMMENDATION FOR RELEASE OF ASSISTANCE

Application No Farmer District Block

Search

Application No.	Farmer Name	District	Block	Village	Ownership
HAI/HAI/2018-2019/0098	akash	Hailakandi	HAILAKANDI	Bahadurpur Pt I	Community

		Date	30/11/2018
Application No.	HAI/HAI/2018-2019/0098	Farmer Name	akash
Address	Village: Bahadurpur Pt I, Block: HAILAKANDI, District: Hailakandi	District	Hailakandi
Ownership	Community, community of Farmer	Farmer Type	Small Farmer
Vendor	M/s NetaFim Irrigation India		
Application Submit Date	30/11/2018, 2018-2019	Vendor Estimate Date	30/11/2018
Estimate Verification Date	30/11/2018	DHFP Sanction Date	30/11/2018, 2018-2019
Installation Intimation Date	30/11/2018	TP Visit Date	01/12/2018

Applicable Subsidy Percentage	55.00	(%)
--------------------------------------	-------	-----

Bank Details

Bank	Allahabad Bank	Branch	2651
Account No.	5464564646464646	IFSC Code	ALLA0213386
Aadhaar no.			

SMI System Installed

SNo.	SMI System	Plant Spacing	Area(Ha)	Essential Component Amount	Max. Subsidy Essential	Optional Component Amount(Approved)	Optional Subsidy	To be Paid Subsidy Amount
1	Drip Irrigation(Close Spaced)	1.2 x 0.6	5.000	951333.50	422930.00	0.00	0	422930.00
		Total	5.000	951333.50	422930.00	0.00	0	422930.00

Component List(Vendor Estimation)

Component	Unit	BIS No	Rate	Qty	Amount
Air Release Valve 1.5"	Number		220.00	1.00	220.00
By-pass Assembly-2.5"	Number		756.00	1.00	756.00
Control Valve * 50 mm	Number		350.00	4.00	1400.00
Control Valve * 63 mm	Number		300.00	6.00	1800.00
Control Valve * 75 mm	Number		355.00	2.00	710.00
Control Valve 90 mm	Number		762.00	2.00	1524.00

Component List(During P. Verification)

Component	Unit	BIS No	Rate	Qty	Amount
Air Release Valve 1.5"	Number		220.00	1.00	220.00
By-pass Assembly-2.5"	Number		756.00	1.00	756.00
Control Valve * 50 mm	Number		350.00	4.00	1400.00
Control Valve * 63 mm	Number		300.00	6.00	1800.00
Control Valve * 75 mm	Number		355.00	2.00	710.00
Control Valve 90 mm	Number		762.00	2.00	1524.00

Venturi & manifold - 2"	Number	2206.00	1.00	2206.00	Venturi & manifold - 2"	Number	2206.00	1.00	2206.00
GPS Points(Vendor)					GPS Points(During P. Verification)				
SNo.	Latitude	Longitude							
1	n123444	e123456							
2	n123444	e123456							
3	n123444	e123456							
4	n123444	e123456							
Nearby Land Locations									
AppNo	Farmer Name	Father Name	Farmer Type	SMI Type	Crop				
HAI/HAI/2018-2019/0042	Rupendra Kashyap	Yuvraj Kashyap	Small Farmer	Drip Irrigation (Wide Spaced)	Water melon				
HAI/HAI/2018-2019/0043	ram	raj	Marginal Farmer	Drip Irrigation (Wide Spaced)	Mango				
HAI/HAI/2018-2019/0044	laxman	deep	Marginal Farmer	Drip Irrigation (Wide Spaced)	Mango				
HAI/HAI/2018-2019/0045	hanuman	ram	Small Farmer	Drip Irrigation(Close Spaced)	Coriander				
HAI/HAI/2018-2019/0046	arjun	raghab	Small Farmer	Drip Irrigation(Close Spaced)	Chilli				
1 2 3 4 5 6									
Site Image List									
Correct Subsidy Amount					422930.00				

SMI	ELIGIBLE SUBSIDY	ELIGIBLE AREA
DC	422930.00	5.000
Total Estimate Amount Including Fitting Charge(Rs.)		998900.00
Farmer Share(Rs.)		575970
Net Subsidy Amount(Rs.)		422930.00
Assistance Could Be Release? * APPROVED ▼		
Assistance Could Be Release To? <input type="radio"/> Vendor <input checked="" type="radio"/> Farmer		
Subsidy Paid To		akash
Account Detail		BANK : Allahabad Bank BRANCH : 2651 ACCOUNT NO : 5464564646464646
Amount To Be Paid		422930.00
Remark if any wrong calculation		approved
Form 4 & 4 A		View
<input type="button" value="Submit for release"/> <input type="button" value="Reset"/>		

**14. Recommendation for Release
(By SNO Director Approval)**

DIRECTOR'S APPROVAL RELEASE OF ASSISTANCE

Application No Farmer District Block

Search

Application No.	Farmer Name	District	Block	Village	Ownership
HAI/HAI/2018-2019/0098	akash	Hailakandi	HAILAKANDI	Bahadurpur Pt I	Community

				Date 30/11/2018	
Application No.	HAI/HAI/2018-2019/0098	Farmer Name	akash		
Address	Village: Bahadurpur Pt I, Block: HAILAKANDI, District: Hailakandi	District	Hailakandi		
Ownership	Community, community of Farmer	Farmer Type	Small Farmer		
Vendor	M/s NetaFim Irrigation India				
Application Submit Date	30/11/2018, 2018-2019	Vendor Estimate Date	30/11/2018		
Estimate Verification Date	30/11/2018	DHFP Sanction Date	30/11/2018	, 2018-2019	
Installation Intimation Date	30/11/2018	TP Visit Date	01/12/2018		

Applicable Subsidy Percentage	55.00	(%)
--------------------------------------	-------	-----

Bank Details

Bank	Allahabad Bank	Branch	2651
Account No.	5464564646464646	IFSC Code	ALLA0213386
Aadhaar no.			

SMI System Installed

SNo.	SMI System	Plant Spacing	Area(Ha)	Essential Component Amount	Max. Subsidy Essential	Optional Component Amount (Approved)	Optional Subsidy	To be Paid Subsidy Amount
1	Drip Irrigation (Close Spaced)	1.2 x 0.6	5.000	951333.50	422930.00	0.00	0	422930.00
Total			5.000	951333.50	422930.00	0.00	0	422930.00

Component List (Vendor Estimation)

Component	Unit	BIS No	Rate	Qty	Amount
Air Release Valve 1.5"	Number		220.00	1.00	220.00
By-pass Assembly-2.5"	Number		756.00	1.00	756.00
Control Valve * 50 mm	Number		350.00	4.00	1400.00
Control Valve * 63 mm	Number		300.00	6.00	1800.00
Control Valve * 75 mm	Number		355.00	2.00	710.00
Control Valve 90 mm	Number		762.00	2.00	1524.00
Emitting Pipe 16 mm Class II; (0.2/0.3m x 1 t, 2-4 lph)	Metre		20.00	42083.00	841660.00

Component List (During P. Verification)

Component	Unit	BIS No	Rate	Qty	Amount
Air Release Valve 1.5"	Number		220.00	1.00	220.00
By-pass Assembly-2.5"	Number		756.00	1.00	756.00
Control Valve * 50 mm	Number		350.00	4.00	1400.00
Control Valve * 63 mm	Number		300.00	6.00	1800.00
Control Valve * 75 mm	Number		355.00	2.00	710.00
Control Valve 90 mm	Number		762.00	2.00	1524.00
Emitting Pipe 16 mm Class II; (0.2/0.3m x 1 t, 2-4 lph)	Metre		20.00	42083.00	841660.00

Throttle Valve 2.5"	Number	3740.00	1.00	3740.00
Venturi & manifold - 2"	Number	2206.00	1.00	2206.00

Throttle Valve 2.5"	Number	3740.00	1.00	3740.00
Venturi & manifold - 2"	Number	2206.00	1.00	2206.00

GPS Points(Vendor)

SNo.	Latitude	Longitude
1	n123444	e123456
2	n123444	e123456
3	n123444	e123456
4	n123444	e123456

GPS Points(During P. Verification)

--	--	--

Nearby Land Locations

AppNo	Farmer Name	Father Name	Farmer Type	SMI Type	Crop
HAI/HAI/2018-2019/0042	Rupendra Kashyap	Yuvraj Kashyap	Small Farmer	Drip Irrigation (Wide Spaced)	Water melon
HAI/HAI/2018-2019/0043	ram	raj	Marginal Farmer	Drip Irrigation (Wide Spaced)	Mango
HAI/HAI/2018-2019/0044	laxman	deep	Marginal Farmer	Drip Irrigation (Wide Spaced)	Mango
HAI/HAI/2018-2019/0045	hanuman	ram	Small Farmer	Drip Irrigation(Close Spaced)	Coriander
HAI/HAI/2018-2019/0046	arjun	raghab	Small Farmer	Drip Irrigation(Close Spaced)	Chilli

1 2 3 4 5 6

Site Image List

Correct Subsidy Amount	422930.00
-------------------------------	-----------

	SMI	ELIGIBLE SUBSIDY	ELIGIBLE AREA
Edit	DC	422930.00	5.000
Total Estimate Amount Including Fitting Charge(Rs.)		998900.00	
Farmer Share(Rs.)		575970	
Net Subsidy Amount(Rs.)		422930.00	
Assistance Could Be Release? *		APPROVED ▼	
Assistance Could Be Release To?		<input type="radio"/> Vendor <input checked="" type="radio"/> Farmer	
Subsidy Paid To		akash	
Account Detail		BANK : Allahabad Bank BRANCH : 2651 ACCOUNT NO : 5464564646464646	
Amount To Be Paid		422930.00	
Remark if any wrong calculation		<input type="text" value="approve"/>	
Form 4 & 4 A		View	
		<input type="button" value="Print Release Order"/>	
		<input type="button" value="Submit"/> <input type="button" value="Reset"/>	

First Print Order then Enable Submit Button



Application No. HAL/HAI/2018-2019/0098 **Farmer Name** akash **Date** 30/11/2018
Address Village: Bahadurpur Pt I, Block: HAILAKANDI, District: Hailakandi
Ownership Community, community of Farmer Farmer Type Small Farmer
Vendor Application Submit Date 30/11/2018, 2018-2019 **M's NetaFim Irrigation India**
Estimate Verification Date 30/11/2018 **Vendor Estimate Date** 30/11/2018
Installation Intimation Date 30/11/2018 **DHFP Sanction Date** 30/11/2018, 2018-2019
Applicable Subsidy Percentage 55.00(%) **TP Visit Date** 01/12/2018



Bank Details

Bank Allahabad Bank **Branch** 2651
Account No. 5464564646464646 **IFSC Code** ALLA0213386
Aadhaar no.

SMI System Installed

SNo.	SMI System	Plant Spacing	Area(Ha)	Essential Component Amount	Max.Subsidy Essential	Optional Component Amount(Approved)	Optional Subsidy	To be Paid Subsidy Amount
1	Drip Irrigation(Close Spaced)	1.2 x 0.6	5.000	951333.50	422930.00	0.00	0	422930.00
	Total		5.000	951333.50	422930.00	0.00	0	422930.00

Component List(Vendor Estimation)

Component List(During P. Verification)

Component	Unit	BIS No	Rate	Qty	Amount	Component	Unit	BIS No	Rate	Qty	Amount
Air Release Valve 1.5"	Number		220.00	1.00	220.00	Air Release Valve 1.5"	Number		220.00	1.00	220.00
By-pass Assembly-2.5"	Number		756.00	1.00	756.00	By-pass Assembly-2.5"	Number		756.00	1.00	756.00
Control Valve * 50 mm	Number		350.00	4.00	1400.00	Control Valve * 50 mm	Number		350.00	4.00	1400.00
Control Valve * 63 mm	Number		1500.00	1.00	1500.00	Control Valve * 63 mm	Number		1500.00	1.00	1500.00
Venturi & manifold 2"	Number		2206.00	1.00	2206.00	Throttle Valve 2.5"	Number		1740.00	1.00	1740.00
						Venturi & manifold 2"	Number		2206.00	1.00	2206.00

GPS Points(Vendor)

GPS Points(During P. Verification)

SNo.	Latitude	Longitude
1	nt23444	e123456
2	nt23444	e123456
3	nt23444	e123456
4	nt23444	e123456

Nearly Land Location

AppNo	Farmer Name	Father Name	Farmer Type	SMI Type	Crop
HAI/HAI/2018-2019/0042	Rupendra Kashyap	Yuvraj Kashyap	Small Farmer	Drip Irrigation (Wide Spaced)	Water melon
HAI/HAI/2018-2019/0043	ram	raj	Marginal Farmer	Drip Irrigation (Wide Spaced)	Mango
HAI/HAI/2018-2019/0044	lakshman	Jeep	Marginal Farmer	Drip Irrigation (Wide Spaced)	Mango
HAI/HAI/2018-2019/0045	hanuman	ram	Small Farmer	Drip Irrigation(Close Spaced)	Coriander
HAI/HAI/2018-2019/0046	arjun	yaghab	Small Farmer	Drip Irrigation(Close Spaced)	Chilli

1 2 3 4 5 6

Site Image List

Correct Subsidy Amount

422930.00

SMI	ELIGIBLE SUBSIDY	ELIGIBLE AREA
Edi	DC	422930.00

Total Estimate Amount Including Fitting Charge(Rs.)

998900.00

Farmer Share(Rs.)

575970

Net Subsidy Amount(Rs.)

422930.00

15. Payment Release (By Account)

Payment Released								
Application No.:	<input type="text"/>	Farmer Name:	<input type="text"/>	District:	<input type="text"/>	Block:	<input type="text"/>	<input type="button" value="Search"/>
Application No.	Farmer Name	District	Block	Village	Ownership			
HAI/HAI/2018-2019/0098	akash	Hailakandi	HAILAKANDI	Bahadurpur Pt I	Community			
HAI/ALG/2018-2019/0015	sandeep	Hailakandi	ALGAPUR	Algapur Pt I	Individual			
HAI/LAL/2018-2019/0004	Dinesh	Hailakandi	LALA	Aynakhal	Community			

Application No.	HAI/HAI/2018-2019/0098	Date	30/11/2018
Address	Village: Bahadurpur Pt I, Block: HAILAKANDI, District: Hailakandi	Farmer Name	akash
Ownership	Community, community of Farmer	District	Hailakandi
Vendor	M/s NetaFim Irrigation India	Farmer Type	Small Farmer
Application Submit Date	30/11/2018, 2018-2019	Farmer Category	OBC
Vendor Estimate Date	30/11/2018	Sanction Date	30/11/2018, 2018-2019
Installation Date	30/11/2018	Approved Date	30/11/2018
Applicable Subsidy Value	55.00(%)	TP Visit Date	01/12/2018

Farmer Bank Details			
Bank	Allahabad Bank	Branch	2651
Account No.	5464564646464646	IFSC Code	ALLA0213386
Aadhaar no.			

Component List(Vendor)						Component List(Third Party)					
Component	Unit	BIS No	Rate	Qty	Amount	Component	Unit	BIS No	Rate	Qty	Amount
Air Release Valve 1.5"	Number		220.00	1.00	220.00	Air Release Valve 1.5"	Number		220.00	1.00	220.00
By-pass Assembly-2.5"	Number		756.00	1.00	756.00	By-pass Assembly-2.5"	Number		756.00	1.00	756.00

Lateral 16 mm Class II, 2.5 kg/cm2	Metre	8.50	559.00	4751.50
Non Return Valve - 2.5"	Number	415.00	1.00	415.00
Screen Filter 30 m3/hr	Number	2025.00	1.00	2025.00
Throttle Valve 2.5"	Number	3740.00	1.00	3740.00
Venturi & manifold - 2"	Number	2206.00	1.00	2206.00

Lateral 16 mm Class II, 2.5 kg/cm2	Metre	8.50	559.00	4751.50
Non Return Valve - 2.5"	Number	415.00	1.00	415.00
Screen Filter 30 m3/hr	Number	2025.00	1.00	2025.00
Throttle Valve 2.5"	Number	3740.00	1.00	3740.00
Venturi & manifold - 2"	Number	2206.00	1.00	2206.00

SMI System Installed

SNo.	SMI System	Plant Spacing	Area(Ha)	Essential Component Amount	Max.Subsidy Essential	Optional Component Amount(Approved)	Optional Subsidy	To be Paid
1	Drip Irrigation(Close Spaced)	1.2 x 0.6	5.000	998900.18	422930.20	0.00	0	422930.00
Total			5.000	998900.18	422930.20	0.00	0	422930.00

Drip

GPS Points(Vendor)

SNo.	Latitude	Longitude
1	n123444	e123456
2	n123444	e123456
3	n123444	e123456
4	n123444	e123456

GPS Points(Third Party)

No Data Found.

Nearby Land Locations

AppNo	Farmer Name	Father Name	Farmer Type	SMI Type	Crop
HAI/HAI/2018-2019/0042	Rupendra Kashyap	Yuvraj Kashyap	Small Farmer	Drip Irrigation (Wide Spaced)	Water melon
HAI/HAI/2018-2019/0043	ram	raj	Marginal Farmer	Drip Irrigation (Wide Spaced)	Mango
HAI/HAI/2018-2019/0044	laxman	deep	Marginal Farmer	Drip Irrigation (Wide Spaced)	Mango
HAI/HAI/2018-2019/0045	hanuman	ram	Small Farmer	Drip Irrigation(Close Spaced)	Coriander
HAI/HAI/2018-2019/0046	arjun	raghab	Small Farmer	Drip Irrigation(Close Spaced)	Chilli

1 2 3 4 5 6

Site Image List

No Image found.

Correct Subsidy Amount

422930.00

SMI	ELIGIBLE SUBSIDY	Area	Updated ELIGIBLE_SUBSIDY	Updated Area
DC	422930.000	5.000		

Total Estimate Amount(Rs.)

998900.00

Farmer Share(Rs.)

575970

Net Subsidy Amount(Rs.)

422930.000

Remark

Submit

Reset

16. Sanction Detail (Payment Freeze) (By State Nodal Officer)

This is the final screen where all the sanctioned cases under the community are shown in the summary table.

There are two summary tables on the screen.

First summary table is same as shown during group sanction - indicating how many cases sanctioned from the group.

The second table shows - how many cases recommended for release of assistance out of the sanctioned cases.

Community Detail													
Select Community : * <input type="text" value="Hailakandi kisaan Seva Samiti"/> <input type="button" value="Search"/>													
S.No.	Community Name	Community Head Name	No Of Member	Total Area Of MI (in ha)	Community Head Mobile No	Community Head Address	District Name	Last Date To Accept Application Date	Sanction Status	Sanction Freeze Date	Payment Release Status	Payment Release Freeze Date	View
1	Hailakandi kisaan Seva Samiti	k.k. singh	50	150.00	9956454654	Hailakandi	Hailakandi	21/11/2018	Freez	21/11/2018	Freez	Pending	View Detail
Sanction Application Detail													
				No Of Application	Area (in ha)			Applicable Subsidy					
Submitted				11	55.00			405655.00					
Sanctioned				5	25.00			405655.00					
Rejected				0	0.00			0.00					
Pending				0	0.00			0.00					
Auto Rejected				6	30.00			0.00					
Payment released detail after sanctioned													
Payment Released Freeze Date										<input type="text" value="2018-12-08"/>		<input type="button" value="Freeze"/>	
				No Of Application	Area (in ha)			Applicable Subsidy					
Sanctioned				5	25.00			405655.00					
Payment Release				3	15.00			243393.00					
Pending				2	10.00			162262.00					
Auto Rejected				0	0.00			0.00					